A b 2 TR R
k4. F 13- e

26 + 5x— x — 6x — 5x°

8% + 9x — 3(7x2 — 5x3) —3x

8x + 3x — 5x° + 3()(3 —3x)

9> — 4x> — 9> — 9x” — Ox

2(9x2 + 8x2) —3x% + 5x + 5x°

29x% + 3x%) — 7> + 8x + 2x°

4 + 5% —x— 4(3x2 + 6x2)

6x> — 4x% — 9x° — ¥ + 4x°

2(7x— Tx) — 8x + 6x + 4x

ox® — 5x% + 4(6x2 - 6x3) + 8x?
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fij e 2 HA R

26 + 5x—x— 6x— 5x2
20 — 5¢ — 2x

8x% + 9x — 3(7x% — 5x°) — 3x
15x° — 1322 + 6x

8x + 3x — 5x% + 3(x* — 3x)
3x° — 5% + 2x

x> — dx? — 9x° — 9% — 9x
—13x% — 9x

20952 + &) — 3x% + Sx + 5
5¢ + 31 + 5x

H #A:

o
=

2(9% + 3x%) = T + 8x + 2x°
—5x° + 24 + 8x

4 + 5% — x — 4(3x% + 6x?)
o> — 36x° — x

6x — 4 — Ox — x* + 4x?
5% + X

2(7x — Tx) — 8x+ 6x + 4x
2x

Ox? — 5x? + 4(6x* — 6x°) + 8x?
—24x3 + 36x°
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